
OPM-0751

William Staehlin

07/23/2025

DEPARTMENT OF HEALTH CARE ACCESS AND INFORMATION
OFFICE OF STATEWIDE HOSPITAL PLANNING AND DEVELOPMENT

APPLICATION FOR HCAI PREAPPROVAL OF 
MANUFACTURER'S CERTIFICATION (OPM)

OFFICE USE ONLY

APPLICATION #: OPM-0751

HCAI Preapproval of Manufacturer's Certification (OPM)

Type: X New Renewal/Update

Manufacturer Information

Manufacturer: Labconco Corporation

Manufacturer's Technical Representative: David Wasescha

Mailing Address: 8811 Prospect Ave, Kansas City, MO 64132

Telephone: (800) 821-5525 Email: dwasescha@labconco.com

Product Information

Product Name:

Product Type:

Product Model Number:

General Description:

Labconco Logic+ Biosafety Cabinet

Class II Biosafety Cabinet

3023, 3024, 3025, 3026, 3034, and 3036

Fume Hoods and Stand/Wall mount

Applicant Information

Applicant Company Name: Labconco Corporation

Contact Person: David Wasescha

Mailing Address: 8811 Prospect Ave, Kansas City, MO 64132

dwasescha@labconco.comEmail:(800) 821-5525Telephone:

Title: Director of Biosafety Products

07/23/2025 OPM-0751: Reviewed for Code Compliance by William Staehlin 1 of 12



OPM-0751

William Staehlin

07/23/2025

DEPARTMENT OF HEALTH CARE ACCESS AND INFORMATION
OFFICE OF STATEWIDE HOSPITAL PLANNING AND DEVELOPMENT

Certification Method

ICC-ES AC156

Other(s) (Please Specify):

HCAI Approval

Title: Senior Structural Engineer

Date: 7/23/2025

Name: William Staehlin 

Condition of Approval (if applicable): 

Testing in accordance with: FM 1950

*Use of criteria other than those adopted by the California Building Standards Code, 2022 (CBSC 2022) for component supports
and attachments are not permitted. For distribution system, interior partition wall, and suspended ceiling seismic bracings, test
criteria other than those adopted in the CBSC 2022 may be used when approved by HCAI prior to testing.

X Analysis

Experience Data

Combination of Testing, Analysis, and/or Experience Data (Please Specify):

Company Name: CUSHING TERRELL

Name: Sushil Shenoy

Mailing Address: 5915 S Regal St, STE 314, Spokane, WA 99223

sushilshenoy@cushingterrell.comEmail:(509) 921-7731Telephone:

Registered Design Professonal Preparing Engineering Recommendations

CE87108California License Number:

ASHRAE 171 FEMA 461

07/23/2025 OPM-0751: Reviewed for Code Compliance by William Staehlin 2 of 12



OPM-0751

William Staehlin

07/23/2025

SHEET

SHEET TITLE

DATE:
5.23.25

LABCONCO LOGIC+
BIOLOGICAL SAFETY
FUME HOOD
WALL MOUNT

PROJECT LOCATION:
CALIFORNIA, USA

▪
S1

.d
w

g
Pr

in
te

d 
by

: T
on

y 
H

o
D

at
e:

 2
02

5-
M

ay
-2

3,
 1

:1
1 

PM

PROJECT #: 24-01-058

®

S1

SERIES CLASS II BIOLOGICAL SAFETY FUME HOOD;
SERIES 3023, 3024, 3025, 3026, 3034, AND 3036

COVER &
GENERAL NOTES

LABCONCO LOGIC

OPM: 0751

7.23.25

EXP: 9/30/2025

Sushil Shenoy
5915 S Regal 
St., STE 314, 
Spokane, WA 
99223
2025.07.23
11:17:33-07'00'

07/23/2025 OPM-0751: Reviewed for Code Compliance by William Staehlin 3 of 12



OPM-0751

William Staehlin

07/23/2025

SI
D

E

TYP

PLAN VIEW OF CABINET (COMPONENT) ELEVATION VIEW: FRONT ELEVATION VIEW: SIDE

'A
'

FRONT

'X' 'Z'

'Y
'

'C
'

BASE TABLE
FRAME BELOW,
TYP TOP OF BASE

TABLE
FRAME

TOP OF BASE
TABLE

FRAME

CENTER
OF
GRAVITY

17
1 4"

42
"

1/4" TEK
SCREWS TO
0.030" MIN
WALL MEMBER
SEE DETAIL
1/S5

CENTER
OF
GRAVITY

Ev

Eh Eh

z/h = 0
SDS ≤ 1.5

z/h = 1
SDS ≤ 1.5

z/h = 0
SDS ≤ 2.5

Ev
(LBS)

Eh
(LBS)

CABINET
SERIES

CABINET LOADS AT INTERFACE WITH WALL
(1.0 x E, STRENGTH DESIGN)

3023

3024

3025

3026

3034

3036

151

184

216

248

194

259

Ev
(LBS)

Eh
(LBS)

126

153

180

207

162

216

454

551

648

745

583

778

Ev
(LBS)

Eh
(LBS)

252

306

360

414

324

432

Ev
(LBS)

Eh
(LBS)

210

255

300

345

270

360

756

918

1080

1242

972

1296

z/h = 1
SDS ≤ 2.5

210

255

300

345

270

360

126

153

180

207

162

216

SHEET

SHEET TITLE

DATE:
5.23.25

LABCONCO LOGIC+
BIOLOGICAL SAFETY
FUME HOOD
WALL MOUNT

PROJECT LOCATION:
CALIFORNIA, USA

▪
S2

.d
w

g
Pr

in
te

d 
by

: T
on

y 
H

o
D

at
e:

 2
02

5-
M

ay
-2

3,
 1

:1
2 

PM

PROJECT #: 24-01-058

®

 1/2" = 1'-0"
1 CABINET DIMENSIONS

S2

CABINET
DIMENSIONS &
SCHEDULE

▪
S2

.d
w

g
Pr

in
te

d 
by

: T
on

y 
H

o
D

at
e:

 2
02

5-
M

ay
-2

3,
 1

:1
2 

PM

OPM: 0751

7.23.25

EXP: 9/30/2025

07/23/2025 OPM-0751: Reviewed for Code Compliance by William Staehlin 4 of 12



OPM-0751

William Staehlin

07/23/2025
OUTLINE OF BIOSAFETY CABINET
(COMPONENT), SEE NOTE 1, TYP

'LENGTH', SEE NOTE 1

2'
 - 

5"

1 3/4"x1 3/4"x12GA HORIZ TUBE,
HIGH & LOW, TYP

1 3/4"x1 3/4"x12GA TUBE CROSSBAR

1 3/4"x1 3/4"x12GA TUBE POST, TYP

SI
D

E

BACK

TYP

A

PLAN VIEW AT TOP OF TABLE
FRAME (SUPPORT)

ELEVATION VIEW: BACK

OUTLINE OF BIOSAFETY CABINET
(COMPONENT)

1.52"x1.52"x16GA TUBE TELESCOPING
POST, TYP, SEE DETAIL 1 ON SHEET 4
FOR CONNECTION TO UPPER POST

12GA PLATE (PART# 328570X)

1'
 - 

1"
TY

P
3/

8"
2"

TYP
3/8"

ELEVATION VIEW: SIDE

OUTLINE OF BIOSAFETY CABINET
(COMPONENT)

TUBE POST

TUBE POST (PART# 32361000)

TY
P

3/
8"

TYP
3/8"

SECTION A-A
1.52"x1.52"x16GA TUBE
TELESCOPING POST, TYP

TUBE POST, TYP

A

1/8
1/8

TYP

TYP

TYP

1/8
TYP

1/8
TYP

TYP

16 GA MIDDLE SUPPORT
SEE DETAILS B
(PART# 328580X)
HIGH HORIZ TUBE
(PART# 3406401)

2

SE
E 

N
O

TE

1.

2.

NOTES:
SEE SCHEDULE ON SHEET 2 FOR BASE TABLE
LENGTHS AND WEIGHTS
SEE DETAIL 1 ON SHEET 4 FOR MAXIMUM
LEG EXTENSION  DIMENSIONS.

SEE DETAIL 2 ON SHEET 4 FOR
COMPONENT TO SUPPORT
CONNECTION, TYP EA CORNER
OF CABINET

(1/8)
TYP

2'
 - 

10
 1

/2
", 

M
AX

2'
 - 

3 
1/

2"
 , 

M
IN

RESULTANT CENTER OF
GRAVITY FOR COMPONENT &
SUPPORT

VA
R

IE
S

12-24 x 1 1/4" SHEET METAL SCREW
TO BENT "U" PLATE @ 6" O.C.

1/4" THRU BOLT EA END
PLATE TO TUBE POST

(2) 12-24 x 1 1/4" SHEET METAL
SCREWS @ EA END OF
DIAGONAL TUBE

HIGH HORIZ TUBE

TUBE DIAGONAL BRACE
(PART# 3289600)

16 GA MIDDLE SUPPORT
SEE DETAIL B

(PART# 3286000)
16GA BENT "U" PLATE
SEE DETAIL B FOR LEG
DIMENSIONS

LOW HORIZ TUBE

THRU- BOLT FOR
TELESCOPING LEG, SEE
DETAIL 1 ON SHEET 4, TYP

1/4" THRU BOLT AT BENT
PLATE CORNERS

1.52"x1.52"x16GA TUBE
TELESCOPING POST, TYP,
SEE DETAIL 1 ON SHEET 4
FOR CONNECTION TO
UPPER POST

LOW HORIZ TUBE

43
4"

43
4"

12-24 x 1 14" SHEET METAL
SCREW TO TUBE POST @
CENTER OF BACK PLATE

16GA BENT PLATE
SEE DETAIL 3/S5

16GA PLATE BENT @
TOP
SEE DETAIL 3/S5

3. ALL NUTS SHALL HAVE LOCK WASHERS.
4. ALL WELDS NOTED ARE DONE PRIOR TO SHIPMENT.

DETAIL B:
6 GA MIDDLE SUPPORT

1 3/4"

1 
3/

4"

3"
SHEET

SHEET TITLE

DATE:
5.23.25

LABCONCO LOGIC+
BIOLOGICAL SAFETY
FUME HOOD
WALL MOUNT

PROJECT LOCATION:
CALIFORNIA, USA

▪
S3

.d
w

g
Pr

in
te

d 
by

: T
on

y 
H

o
D

at
e:

 2
02

5-
M

ay
-2

3,
 1

:1
1 

PM

PROJECT #: 24-01-058

®

 1" = 1'-0"
1 BASE TABLE FRAME

S3

TABLE FRAME
SUPPORT
DETAILS

OPM: 0751

7.23.25

EXP: 9/30/2025

07/23/2025 OPM-0751: Reviewed for Code Compliance by William Staehlin 5 of 12



OPM-0751

William Staehlin

07/23/2025

1'
-1

1 
1/

2"

IN
N

ER
 T

EL
ES

C
O

PI
N

G
 L

EG

1"
 M

AX

3/8" Ø BOLT THRU
POSTS AND, WHERE
PRESENT, 12GA PLATE;
PROVIDE WASHER AND
LOCKNUT

1 3/4"x1 3/4"x12GA TUBE
POST, TYP

1.52"x1.52"x16GA TUBE
TELESCOPING POST

LOW HORIZ TUBE
(WHERE PRESENT)

THREADED
ADJUSTABLE LEVELING
FOOT

CAP PLATE

CONCRETE
STRUCTURE

10
" M

AX

12GA PLATE NOT
SHOWN FOR CLARITY;
REFERENCE DETAIL 1
ON SHEET 3 FOR
INFORMATION

NOTE:
SEE SHEET 5 FOR SUPPORT ATTACHMENT TO
CONCRETE STRUCTURE

2"
, M

IN

6"
, M

AX

NOTE:
BRACE NOT SHOWN
FOR CLARITY

OUTLINE OF
BIOSAFETY CABINET
(COMPONENT)

TUBE POST, TYP

ELEVATION: SIDE OF BIOSAFETY CABINET AND TABLE

BIOSAFETY CABINET
(COMPONENT) WALL/FLANGE,
16GA MIN

HIGH HORIZ TUBE

SECTION A-A

THRU-BOLT
TYP

A

A

NOTE:
BRACE & BRACE
CONNECTION NOT
SHOWN FOR CLARITY

BACK PLATE EDGE

BACK PLATE

BACK PLATE
THRU-BOLT

BACK PLATE
THRU-BOLT

1/4"-20 x 2 3/4" SS THRU-BOLTS (3/4"
MIN EDGE DISTANCE), CABINET
WALL/FLANGE (COMPONENT) TO
HIGH HORIZ TUBE OF TABLE FRAME
(SUPPORT)
TYP EA CORNER

HIGH HORIZ TUBE
TYP

NOTE :
ALL NUTS SHALL
HAVE LOCK
WASHERS.

SHEET

SHEET TITLE

DATE:
5.23.25

LABCONCO LOGIC+
BIOLOGICAL SAFETY
FUME HOOD
WALL MOUNT

PROJECT LOCATION:
CALIFORNIA, USA

▪
S4

.d
w

g
Pr

in
te

d 
by

: T
on

y 
H

o
D

at
e:

 2
02

5-
M

ay
-2

3,
 1

:1
2 

PM

PROJECT #: 24-01-058

®

 3" = 1'-0"
1 TELESCOPING POST CONNECTION

 3" = 1'-0"
2

COMPONENT TO SUPPORT
CONNECTION

S4

TABLE FRAME
SUPPORT
DETAILS

OPM: 0751

7.23.25

EXP: 9/30/2025

07/23/2025 OPM-0751: Reviewed for Code Compliance by William Staehlin 6 of 12



OPM-0751

William Staehlin

07/23/2025

LINE OF CABINET

SHEET METAL SCREWS
TYP

BACKING BY OTHERS,
MIN 8" WIDE

SECTION A-A

EDGE OF
CABINET

4"x1.375"x 1/8" THICK PLATE
WASHER, TYP

5" MAX

CL

6" 1 1/2"
MAX

2 1/2"
1/2" 1/

2"

A

A

1/
2"

(4) 14-24x1 1/2" SHEET METAL SCREWS
INTO MIN 33 MIL (20 GA) THICK
BACKING DESIGNED BY OTHERS

WASHER

HAT CHANNEL

RECTANGULAR
DOUBLER PLATE

GYPSUM BOARD

EDGE OF CABINET,
WALL BRACKET EXTENDS UP
TO 5" PAST EDGE OF CABINET

(2) 12-24 x 3/4" SHEET
METAL SCREWS, WALL
MOUNT BRACKET TO
CABINET - EA END &
2"Ø X 16 GA WASHER -
MIN

SECTION PROPERTIES OF
HAT CHANNEL
AREA = 0.63 INCHES ^ 2

PRINCIPAL MOMENTS OF
INERTIA: (INCHES ^ 4)
lx = 0.73
l4 = 1.42

SHEET

SHEET TITLE

DATE:
5.23.25

LABCONCO LOGIC+
BIOLOGICAL SAFETY
FUME HOOD
WALL MOUNT

PROJECT LOCATION:
CALIFORNIA, USA

▪  
 S

5.
dw

g
Pr

in
te

d 
by

: T
on

y 
H

o
D

at
e:

 2
02

5-
M

ay
-2

3,
 1

:1
2 

PM

PROJECT #: 24-01-058

®

 3" = 1'-0"
1

WALL MOUNT BRACE
CONNECTION TO WALL

S5

SUPPORT
ATTACHMENT
DETAILS

OPM: 0751

7.23.25

EXP: 9/30/2025

07/23/2025 OPM-0751: Reviewed for Code Compliance by William Staehlin 7 of 12



OPM-0751

William Staehlin

07/23/2025

SHEET

SHEET TITLE

DATE:
5.23.25

LABCONCO LOGIC+
BIOLOGICAL SAFETY
FUME HOOD
FLOOR MOUNT

PROJECT LOCATION:
CALIFORNIA, USA

▪  
 S

1.
dw

g
Pr

in
te

d 
by

: T
on

y 
H

o
D

at
e:

 2
02

5-
M

ay
-2

3,
 1

:1
3 

PM

PROJECT #: 24-01-058

®

S1

SERIES 3023, 3024, 3025, 3026, 3034, AND 3036

COVER &
GENERAL NOTES

SERIES CLASS II BIOLOGICAL SAFETY FUME HOOD;LABCONCO LOGIC

OPM: 0751

7.23.25

EXP: 9/30/2025

07/23/2025 OPM-0751: Reviewed for Code Compliance by William Staehlin 8 of 12



OPM-0751

William Staehlin

07/23/2025

SI
D

E

TYP

PLAN VIEW OF CABINET (COMPONENT) ELEVATION VIEW: FRONT ELEVATION VIEW: SIDE

'A
'

'B'

FRONT

CENTER
OF
GRAVITY

'X' 'Z'

'Y
'

CENTER
OF
GRAVITY

'C
'

BASE TABLE
FRAME BELOW,
TYP TOP OF BASE

TABLE
FRAME

TOP OF BASE
TABLE

FRAME

TABLE FRAME POST VERTICAL (UPLIFT, TU)
& HORIZONTAL (VU) REACTIONS AT

INTERFACE WITH CONCRETE STRUCTURE
(MAX REACTION FROM LOAD

COMBINATIONS PER S1.1)

3023 283 161 539 271

CABINET
SERIES

z/h = 0
SDS ≤ 1.5

Vu/POST
(LBS)

Tu/POST
(LBS)

Vu/POST
(LBS)

Tu/POST
(LBS)

z/h = 0
SDS  ≤ 2.5

3024 335 197 645 332

3025 383 230 744 387

3026 435 265 851 446

3034 356 206 688 347

3036 462 273 896 464

SHEET

SHEET TITLE

DATE:
5.23.25

LABCONCO LOGIC+
BIOLOGICAL SAFETY
FUME HOOD
FLOOR MOUNT

PROJECT LOCATION:
CALIFORNIA, USA

▪  
 S

2.
dw

g
Pr

in
te

d 
by

: T
on

y 
H

o
D

at
e:

 2
02

5-
M

ay
-2

3,
 1

:1
3 

PM

PROJECT #: 24-01-058

®

 1/2" = 1'-0"
1 CABINET DIMENSIONS

S2

CABINET
DIMENSIONS &
SCHEDULES

161 539 271

Vu/POST
(LBS)

Tu/POST
(LBS)

Vu/POST
(LBS)

ST
)

197 645 332

230 744 387

265 851 446

206 688 347

273 896 464

3023 283

SERIES
Tu/POS

(LBS)

3024 335

3025 383

3026 435

3034 356

3036 462

▪  
S2

.d
w

g
Pr

in
te

d 
by

: T
on

y 
H

o
D

at
e:

 2
02

5-
M

ay
-2

3,
 1

:1
3 

PM

OPM: 0751

7.23.25

EXP: 9/30/2025

07/23/2025 OPM-0751: Reviewed for Code Compliance by William Staehlin 9 of 12



OPM-0751

William Staehlin

07/23/2025
OUTLINE OF BIOSAFETY CABINET
(COMPONENT), SEE NOTE 1, TYP

'LENGTH', SEE NOTE 1

2'
 - 

5"

1 3/4"x1 3/4"x12GA HORIZ TUBE,
HIGH & LOW, TYP

1 3/4"x1 3/4"x12GA TUBE CROSSBAR

1 3/4"x1 3/4"x12GA TUBE POST, TYP

SI
D

E

BACK

TYP

A

PLAN VIEW AT TOP OF TABLE FRAME (SUPPORT)

ELEVATION VIEW: BACK

OUTLINE OF BIOSAFETY CABINET
(COMPONENT)

1.52"x1.52"x16GA TUBE TELESCOPING
POST, TYP, SEE DETAIL 1 ON SHEET 4
FOR CONNECTION TO UPPER POST
(PART# 3286000)

12GA PLATE (PART# 328570X)

1'
 - 

1"
TY

P
3/

8"
2"

TYP
3/8"

ELEVATION VIEW: SIDE

OUTLINE OF BIOSAFETY CABINET
(COMPONENT)

TUBE POST

TUBE POST (PART# 3236100)
SEE SHEET 5 FOR SUPPORT ATTACHMENT TO
CONCRETE STRUCTURE, TYP

TY
P

3/
8"

TYP
3/8"

SECTION A-A

TUBE POST, TYP

A

1/8
1/8

TYP

TYP

TYP

1/8
TYP

1/8
TYP

TYP

16 GA MIDDLE SUPPORT
SEE DETAILS B
(PART# 328580X)
HIGH HORIZ TUBE
(PART# 3406401)

2

SE
E 

N
O

TE

1.

2.

NOTES:
SEE SCHEDULE ON SHEET 2 FOR BASE TABLE LENGTHS AND
WEIGHTS.
SEE DETAIL 1 ON SHEET 4 FOR MAXIMUM LEG EXTENSION
DIMENSIONS.

SEE DETAIL 2 ON SHEET 4 FOR
COMPONENT TO SUPPORT
CONNECTION, TYP EA CORNER
OF CABINET

(1/8)
TYP

2'
 - 

10
 1

/2
", 

M
AX

2'
 - 

3 
1/

2"
 , 

M
IN

Tu

Vu

Tu

Vu

Tu

Vu

Tu

Vu

Tu

Vu

Tu

Vu

RESULTANT CENTER OF
GRAVITY FOR COMPONENT &
SUPPORT

VA
R

IE
S

12-24 x 1 1/4" SHEET METAL
SCREW TO BENT "U" PLATE @ 6"
O.C.

1/4" THRU BOLT EA END
PLATE TO TUBE POST

(2) 12-24 x 1 1/4" SHEET METAL
SCREWS @ EA END OF
DIAGONAL TUBE, EA SIDE

HIGH HORIZ TUBE

TUBE DIAGONAL BRACE
(PART# 3289600)

16 GA MIDDLE SUPPORT
SEE DETAIL B

16GA BENT "U" PLATE
SEE DETAIL B FOR LEG
DIMENSIONS

LOW HORIZ TUBE

THRU- BOLT FOR
TELESCOPING LEG, SEE
DETAIL 1 ON SHEET 4, TYP 12-24 x 1 14" SHEET METAL

SCREW TO TUBE POST @
CENTER OF BACK PLATE

1/4" THRU BOLT AT BENT PLATE
CORNERS

1.52"x1.52"x16GA TUBE
TELESCOPING POST, TYP,
SEE DETAIL 1 ON SHEET 4
FOR CONNECTION TO
UPPER POST

LOW HORIZ TUBE

16GA BENT PLATE
SEE DETAIL 3/S5

43
4"

43
4"

1.52"x1.52"x16GA
TUBE TELESCOPING
POST, TYP

16GA PLATE BENT @
TOP
SEE DETAIL 3/S5

3. ALL NUTS SHALL HAVE LOCK WASHERS.
DETAIL B:

16 GA MIDDLE SUPPORT

1 3/4"

1 
3/

4"

3"
SHEET

SHEET TITLE

DATE:
5.23.25

LABCONCO LOGIC+
BIOLOGICAL SAFETY
FUME HOOD
FLOOR MOUNT

PROJECT LOCATION:
CALIFORNIA, USA

▪  
 S

3.
dw

g
Pr

in
te

d 
by

: T
on

y 
H

o
D

at
e:

 2
02

5-
M

ay
-2

3,
 1

:1
3 

PM

PROJECT #: 24-01-058

®

 1" = 1'-0"
1 BASE TABLE FRAME

S3

TABLE FRAME
SUPPORT
DETAILS

OPM: 0751

7.23.25

EXP: 9/30/2025

07/23/2025 OPM-0751: Reviewed for Code Compliance by William Staehlin 10 of 12



OPM-0751

William Staehlin

07/23/2025

1'
-1

1 
1/

2"

IN
N

ER
 T

EL
ES

C
O

PI
N

G
 L

EG

1"
 M

AX

3/8" Ø BOLT THRU
POSTS AND, WHERE
PRESENT, 12GA PLATE;
PROVIDE WASHER AND
LOCKNUT

1 3/4"x1 3/4"x12GA TUBE
POST, TYP

1.52"x1.52"x16GA TUBE
TELESCOPING POST

LOW HORIZ TUBE
(WHERE PRESENT)

THREADED
ADJUSTABLE LEVELING
FOOT

CAP PLATE

CONCRETE
STRUCTURE

10
" M

AX

12GA PLATE NOT
SHOWN FOR CLARITY;
REFERENCE DETAIL 1
ON SHEET 3 FOR
INFORMATION

NOTE:
SEE SHEET 5 FOR SUPPORT ATTACHMENT TO
CONCRETE STRUCTURE

2"
, M

IN

6"
, M

AX

NOTE:
BRACE NOT
SHOWN FOR
CLARITY

OUTLINE OF
BIOSAFETY CABINET
(COMPONENT)

TUBE POST, TYP

ELEVATION: SIDE OF BIOSAFETY CABINET AND TABLE

BIOSAFETY CABINET
(COMPONENT) WALL/FLANGE,
16GA MIN

HIGH HORIZ TUBE

SECTION A-A

THRU-BOLT
TYP

A

A

BACK PLATE EDGE

BACK PLATE

BACK PLATE
THRU-BOLT

BACK PLATE
THRU-BOLT

1/4"-20 x 2 3/4" SS THRU-BOLTS (3/4"
MIN EDGE DISTANCE), CABINET
WALL/FLANGE (COMPONENT) TO
HIGH HORIZ TUBE OF TABLE FRAME
(SUPPORT)
TYP EA CORNER

HIGH HORIZ TUBE
TYP

NOTE:
BRACE & BRACE
CONNECTION NOT
SHOWN FOR
CLARITY

NOTE:
ALL NUTS SHALL
HAVE LOCK
WASHERS.

SHEET

SHEET TITLE

DATE:
5.23.25

LABCONCO LOGIC+
BIOLOGICAL SAFETY
FUME HOOD
FLOOR MOUNT

PROJECT LOCATION:
CALIFORNIA, USA

▪  
 S

4.
dw

g
Pr

in
te

d 
by

: T
on

y 
H

o
D

at
e:

 2
02

5-
M

ay
-2

3,
 1

:1
3 

PM

PROJECT #: 24-01-058

®

 3" = 1'-0"
1 TELESCOPING POST CONNECTION

 3" = 1'-0"
2

COMPONENT TO SUPPORT
CONNECTION

S4

TABLE FRAME
SUPPORT
DETAILS

OPM: 0751

7.23.25

EXP: 9/30/2025

07/23/2025 OPM-0751: Reviewed for Code Compliance by William Staehlin 11 of 12



OPM-0751

William Staehlin

07/23/2025

1.52"x1.52"x16GA TUBE
TELESCOPING POST

SEISMIC BRACKET (PART# 3857101) W/
(3) 14"Ø THRU-BOLTS AT TUBE POST
(CENTERED) AND (2) 5/8" Ø EXPANSION
ANCHOR EMBEDDED 23

4" (EFFECTIVE)
INTO SLAB

CONC SLAB (STRUCTURE), 5"
MIN THICKNESS; SEE DETAIL 2
FOR EDGE DISTANCE
RESTRICTIONS

1"
1"

1"
1" 5"

BRACKET AND EXPANSION
ANCHORS PER DETAIL 1,
TYP

CONCRETE
STRUCTURE, TYP

PLAN VIEW

1'
-6

" M
IN

1'
-6

" M
IN

1'-0" MIN

SLAB EDGE OR
CONTROL JOINT

TABLE LEG

9.118

16
.0

59

12-24 X 1 1/4"
SHEET
 METAL SCREWS
@ 6" OC

1.868

1.
06

1

1.
86

8

1.059 1.059

12-24 X 1 1/4" SHEET
 METAL SCREWS
@ 6" OC

SHEET

SHEET TITLE

DATE:
5.23.25

LABCONCO LOGIC+
BIOLOGICAL SAFETY
FUME HOOD
FLOOR MOUNT

PROJECT LOCATION:
CALIFORNIA, USA

▪  
 S

5.
dw

g
Pr

in
te

d 
by

: T
on

y 
H

o
D

at
e:

 2
02

5-
M

ay
-2

3,
 1

:1
3 

PM

PROJECT #: 24-01-058

®

 3" = 1'-0"
1 EXPANSION ANCHOR CONNECTION

 1" = 1'-0"
2 ANCHOR EDGE DISTANCES

S5

SUPPORT
ATTACH DETAILS

3 BENT PLATES
 1" = 1'-0"

OPM: 0751

7.23.25

EXP: 9/30/2025

07/23/2025 OPM-0751: Reviewed for Code Compliance by William Staehlin 12 of 12




